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i Poisson AITE XD EH AT —L(1/6)

Poisson A2

o°u . o°u ]
oxX* oy’
ZERICPRIDESTELZAV-ESAER
Ui j _2ui,j T Uiy + Ui j1 _2ui,j T Ui ——
AX’ Ay* "
AX=AyET B,
— U= U +4U = U — U = AX2gi,j
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Natural ordering:

Ug gy Ug gyeeevery Ug 32Uy, Upy oenee U EBBEMITET

y Yto1 22 23 24 25

o o o o o oo o o o

(4,0) |(41) ((4,2) |(4,3) [(44)

P N . N — 170—— &S @

(30) (3D [3.2) [(33) [(3.4) 7 I8 o

P N . N — j>160 S—D— D @19

20) (21 [22) [23) 24 s 5 e

P N . N — 50— &S @13

L0) (L1 (12 [13) 1.4 BRCIRE

1(0,0) .(0,1) .(0,2) .(0,3) .(0,4) X
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Natural ordering [ZE > TEFRIFLLTD LI

RIEMTES
(4 -1 -1
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-1 4
-1 4 -1
-1 4
-1
-1
-1

(u, )

(szg1 + Uy, + Uy )
AX®g, + Uy,
AX?Q, + Uy, + Uy
AX®g, + Uy,
AX? g,

AX® g, + Uy

AX?Q, + U, + Uy,
2

AX Qg + Uy,

\
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-1
-1
4 -1
-1 4,

LAX?gg + Uy + Uy,
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i Poisson AITE XD E7H AT —L.(4/6)

Up=(w u; ug)’, Up=(us us ug) ',
By=(by b, bs)", By=(by bs bg) ',

Us=(u; ug ug)'
By=(b; bg bg)'

ULEDBESHZIZE ST, ITHKIE LTOHICESENS

(A, A, \U;) (B))
Ay A, AU, =B

\ An As)\Us) \Bs)
-- (4 -1 )
Ai=|-1 4 -1
. -1 4
(-1 )
Aj = Aji = -1
\ -1

(i=12,3)

(i,j=123:i=j)



Poisson ARERXDEHN AF—L(5/6)
JOv9 =X AT ETOT S,
ZREITIIDERTE :

ATTHIDERE -
1710 "*specification of A 1830 FOR JO=1 TO JBAR-1

1720 *MTRX 1840 FOR I1=1 TO IBAR:FOR J=1 TO JBAR
1740 FOR 1=1 TO IBAR:AII(1,1)=4:NEXT | 1850 IP=I+JBAR*J0: JP=J+JBAR*(J0-1)

1750 FOR 1=2 TO IBAR:AII(I,I-1)=-L:NEXT | 3960 (P IPY=A1J(1.J):NEXT J:NEXT |
1760 FOR 1=1 TO IBAR-L:AII(1,1+1)=-1:NEXT I 1870 NEXT JO

1770 FOR 1=1 TO IBAR:ALJ(I,1)=-1:NEXT I 1880 FOR JO=1 TO JBAR-1

1780 FOR Jg=1 TO JBA_R B 1890 FOR 1=1 TO IBAR:FOR J=1 TO JBAR
1790 FOR I=1 TO IBAR:FOR J=1 TO JBAR 1900 1P=1+JBAR*(J0-1):JP=J+JBAR*JO

1800 IP=I+JBAR*(J0-1):JP=J+JBAR*(J0-1) 1910 A(IP,JP)=AlJ(I,J):NEXT J:NEXT |
1810 A(IP,JP)=Al1(1,J):NEXT J:NEXT I 1920 NEXT J0-RETURN
1820 NEXT JO '

bITHIDERE :

1940 "*specification of b

1950 *RHS

1960 FOR I=1 TO IJBAR:B(1)=GO0*DXDY:NEXT I:RETURN

1970 'FOR I=IBAR TO IJBAR STEP IBAR:B(1)=UO:NEXT I:RETURN




Poisson FITE XD EH AT —L.(6/6)

HOADBEEICLDTINDMEE

1440 '"*Gaussian eliminator for A*u=b

1450 *GAUSS

1470 FOR K=1 TO 1JBAR

1480 D1(K)=1/A(K,K)

1490 FOR I=K+1 TO IJBAR
1500 M(1,K)=A(1,K)*D1(K)

1510 FOR J=K+1 TO 1JBAR
1520 A(1,9)=A(1,9)-M(1,K)*A(K,J)
1530 NEXT J

1540 B(1)=B(1)-M(1,K)*B(K)
1550 A(1,K)=0

1560 NEXT |

1580 NEXT K

1590 D1(I1JBAR)=1/A(1JBAR, JBAR)

1600 "*backward substitution

1610 U(1JBAR)=B(1JBAR)*D1(1JBAR)
1620 FOR I= 2 TO 1JBAR

1630 IR1=1JBAR-1+1

1640 SUM=0:FOR J=IR1+1 TO IJBAR
1650 SUM=SUM+A(IR1,J)*U(J):NEXT J
1660 U(IR1)=(B(IR1)-SUM)/A(IR1,IR1)
1690 NEXT |



i FR7517%51(Sparse Matrix )
BFDENDOEH: npEIETHE
D : nxn=n2
FREITHDEERE: n2 x n2=n*
EFBOEFRH: (n+2(n-1)) X n+n X (n-1) x 2=(5n-4)n
EBODERBNDE|E: (5n-4)/ nd

n=1 100 9% Ay Ay (Ul B,
n=2 75 % Ay Ay Ay U2]=[Bz]
n=>5 16.8 % Ay, Ap U B,
n=10 4.6 % 4 -1

n=20 1.2 % Aij=|-1 4 -1 (i=123)
n=50 0.1968 % -1 4

n=100

0.0496 % -1
Aj = Aji = -1 (i,j=123, i=])
-1
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EEET HECDKIE
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u =L u+e(1-wl) Db
L, =(1-o0L)'[1-0)! +wU]

AREEDITIMKICLDERIETHD, L, [ESORITHIEME
[N, £, , [£Gauss—Seidel{THIZFEBRL TLVS,
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R=D"'w
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Courant5E {4
CAt/AX <1

HREUE D M (o HEEUR B0

aAt/ Ax? <1/2
ZRBOECELRENX
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HEO—

1480 'computation

1490 T=0:N=0:GOSUB *PLOT

1500 *¢boundary condition

1510 GOSUB *BNDC1 R &#
1520 ’*initial guess for f

1530 GOSUB *STRM  FhBEAHO MR TEE
1540 ’*initial guess for u, v
1550 GOSUB *VELCI REBOORAKRTE

1560 'start cycle

1570 T=T+DT

1580 N=N+1

1590 'vorticity

1600 LOCATE 48,6:PRINT eq.(7.5)”

1610 GOSUB *VORTC BEEZEAEXDARAFTCS)
1620 ‘GOSUB *VORTD @BE@WEAEXNBREELES)
1630 'stream function

1640 LOCATE 48,6:PRINT eq.(7.7)”

1650 GOSUB *STRM R7YV AR DRE

1660 *kvelocity

1670 GOSUB *VELCI a—3—1)—2 2 ORFRKX oD Fi B o 5



BERIAEINDFTCSE DR IE

1840’
1850 "*kvorticity by FTCS

1860 *VORTC

1870 FOR I=2 TO IM1

1880 JS=2

1890 IF IK=IO THEN JS=JO1

1900 FOR J=JS TO JM1

1910 IF (IFI0 AND J=JO1) THEN G(I,J-1)=BCON{

1920 IF (I=I01 AND J=JO) THEN G(I-1,J)=BCON2

1930 FUX=DX1C*(G(I+1,J)-G(I-1,J))*U(1,J)

1940 FUY=DY1C*(G(I,J+1)-G(I,J-1))*V(,J)

1950 VISX=RDX2*VISC*(G(I+1,J)-2*G(I,J)+G(I-1,J))

1960 VISY=RDY2*VISC*(G(I,J+1)-2*G([,J)+G(1,J-1))

1970 G1(IJ)=G(IJ)+DT*(-FUX-FUY+VISX+VISY):NEXT J

1980 NEXT I

1990 *¢boundary codition

2000 FOR [=2 TO IM1:FOR J=2 TO JM1:G(I,J)=G1(I,J):NEXT J:NEXT I
2010 RETURN

2020’




EEREAREINOR LES A

2030 *vorticity by donor—difference
2040 *VORTD

2050 FORI=2 TO IM1

2060 JS=2

2070 IF IK=IO THEN JS=JO1

2080 FOR J=JS TO JM1

2090
2100
2110
2120
2130
2140
2150
2160
2170

IF (I=I0 AND J=JO1) THEN G(I,J-1)=BCON{

IF (I=I01 AND J=JO) THEN G(I-1,J)=BCON2
FUX=DX1C*(U(LJ)*(G(I+1,J)-G(-1,J)))
FUX=FUX+DX1C*(ABS(U(I,J))*(2*G(1,J)-G(I+1,J)-G(I-1,J)))
FUY=DY1C*(V(I,J)*(G(1,J+1)-G(,J-1)))
FUY=FUY+DY1C*(ABS(V(I,J))*(2*G(1,J)-G(I,J+1)-G(1,J-1)))
VISX=RDX2*VISC*(G(I+1,J)-2*G(I,J)+G(I-1,J))

VISY=RDY 2*VISC*(G(I,J+1)-2%G(I,J)+G(I,J-1))
G1(I,J)=G(I,J)+DT*(-FUX-FUY+VISX+VISY):NEXT J

2180 NEXT I

2190 '*boundary codition

2200 FOR I=2 TO IM1:FOR J = 2 TO JM1:G(I,J)=G1([,J):NEXT J:NEXT 1
2210 RETURN



SORi%k[IZ &k APoisson 2 X D FUBE R AT

2230 '*stream function by SOR—-method

2240 *STRM

2250 ITER=0

2260 '*iteration start

2270 ITER=ITER+1

2280 LOCATE 48,7:PRINT USING” (k)=##"ITER
2290 EMAX=0:FOR I=2 TO IM1

2300 JS=2

2310 IF IK=IO THEN JS=JO1

2320 FOR J=JS TO JM1

2330 TP=F(1,J)

2340 ZR=F(I+1,J)+F(I-1,J)+BETA2*(F(I,J+1)+F(I,J-1))
2350 ER=ZR-C1*F(I,J)-DX2*G(I,J)

2360 F(1,J)=F(I,J)*OMG*C2*ER

2370 TP=F(,J)-TP:TP=ABS(TP)/FO0

2380 IF TP>EMAX THEN EMAX=TP

2390 NEXT J:NEXT [

2400 IF EMAX>EPSI THEN GOTO 2260

2410 *boundary codition

2420 FOR J=2 TO JM1:F(IMAX,J)=F(IM1,J):NEXT J:RETURN



O—2—1)—< U ORBRIAND T EEL
DER

2540’
2550 "*velocity u,v from (i)

2560 *VELCI

2570 FOR =2 TO IM1

2580 JS=2

2590 IF IK=I0 THEN JS=JO1

2600 FOR J=JS TO JM1

2610 U(I,J)=DY1C*(F(1,J+1)-F(1,J-1))

2620 V(I,J)=DX1C*(F(I-1,J)-F(I+1,J)):NEXT J:NEXT I

2630 FOR J=2 TO JMT1

2640 U(IMAX,J)=U(IM1,J):VIMAX,J)=V(IM1,J):NEXT J:RETURN
2650’




IEREHDETE

. 2430’
" 2440 'xinitial guess + boundary condition

. 2450 *BNDC1

. 2460 FOR I=1 TO IMAX:FOR J=1 TO JMAX

. 2470 F(1,J)=0:G(1,J)=0:G1(1,J)=0

. 2480 U(1,J)=0:vV(1,J)=0

. 2490 NEXT J:NEXT 1

. 2500 "*inflow

. 2510 FOR J=JO TO JM1:F(1,J+1)=F(1,J)+U0*DY:NEXT J
. 2520 FOR =2 TO IMAX:F(I,JMAX)=F(1,JMAX):NEXT I

. 2530 FO=F(1,JMAX):RETURN

. 2540’

. 2650 '
" 2660 "*boundary condition

. 2670 *BNDC2

. 2680 "kcorner

. 2690 BCON1=2*F(10,JO1)*RDY2:BCON2=2*F(101,JO)*RDX2

" 2700 '*obstacle

. 2710 FOR I=2 TO 10:G(1,JO)=2*F(1,JO1)¥RDY2:NEXT I

. 2720 FOR J=2 TO JO:G(0,J)=2%F(I01,J)*RDX2:NEXT J

. 2730 FOR [=2 TO IM1:G(I,UMAX)=2x(F(I,JM1)-F(I,JMAX))*RDY2
. 2740 NEXT 1

. 2750 G(IMAX,JMAX)=G(IM1,JMAX):RETURN

. 2760’
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